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m=0.8SL = (1 - 3.000V = 100)= 32.8

m = SL +=( 1 - 2.000V + 100)= 33.8

m = SL =(1- 43V =+ 100) = 32.7

PUEXY, BEEEE M = 33.8(N/mi) & LET, m = 33.8(N/mf)
Kt AL MEEW/C)

33.8 = -18.5 + 28.2 X C/WL DY W/C = 53.919 (%) W/C= 53.5(%)
EAALAKE (W) YA HEEL Y = 175(kg/nf')
BTt A FE(C)

C=W = WC X 100 = 175 < 53.5 X 100 = 327 (kg/nf) = 327 (kg/nt)

Ve =C - pc = 327 + 3.04 = 108(2/nf) Ve=  108(Q /nf)
HELE B > X FH (ot / ) BHALNRERE LD = 0.610 (nf /nf)
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Vg =V X 1000 X ZEFREZE+ 100 =0.610 X 1000 X 59.0 = 100 = 360(2/ni)| Ve= 360(Q/mt)

G=Vg Xpg= 360 X 2.72 = 979 (kg/nf") = 979 (kg/nt)

Gl =G X( 40 =( 40 + 60))= 392 (kg/nt) Gl= 392 (kg/nf)

G2 =G - Gl = 587 (kg/nf) G2= 587 (kg/nf)
EALHIE A & (S)

Vs =av/-\EFE-( W + Ve + Vg +Vair)

= 1000 -( 175+ 108 + 360 + 45 )= 312(2/m’) Vs=  312(Q/nf)

S=Vs Xps = 312 X 2.58 = 805(kg/nf) S = 805(kg/nt)

St =S xX( 8 =( 8 + 20))= 644 (keg/nf) S1=  644(kg/nf)

S2 =8 - S1 = 161(kg/n) S2= 161 (kg/nt)
HE B 2R (s/a)

s/a= Vs+ (Vs+Vg) X100 = 312 =( 312 + 360) X100 = 46. 4(%) s/a=  46.4(%)
BT TR A& (Ad)

Adl = C X @M+ 100 = 327 X0.798+100= 2.609 (kg/nf) Ad1= 2. 609 (kg/nf)
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